2 RARE=SIVTBRERR

Ei L] #5832 (Ba/kg)
NO | WG | WERR | WEH | oey il samw) | mme |y REA (e, 290, 2HRE il BEE | G | wmn | 019 | o197 | osed
1 %f”ﬁb,j rER GRS — SERE REY 85/ A(fE3%) — BERERRRE V- Ge H254.5 | H2548 <76 <53 <13
2 %f‘ffp,j BER Bl — FEE BED 47 — EERBRERE I Ge H25.45 | H25.45 <85 <19 <16
3 %f”ﬁb,j BER Bl - B BEN 4+A — BERRREEEVS— Ge H2545 | H2545 <17 <73 <15
4 %f‘ffp,j BEER Bl — FEE BED 47 — EERRERE I Ge H25.45 | H25.45 <91 <95 <19
5 %:%;f oy | BER HAtH — FERER BEN 45 — BERRRBEEVS— Ge H2545 | H2545 <67 <64 <13
6 %f‘ffp,j BEER fRET — FEE BED 47 — EERBRERE I Ge H25.45 | H25.45 <95 <856 <18
7 %fﬁb,j BER HaET - B BEN 4+A — BERRRBEEVS— Ge H2545 | H2545 <85 <67 <15
8 %f‘ffp,j BEER KWRET — FEE BED 47 — EERRERE I Ge H25.45 | H25.4.5 <55 <65 <12
9 %fﬁb,j BER RERET - B BEN 4+A — BERRRBEEVS— Ge H2545 | H2545 <99 <81 <18
10 %f‘ffp,j BEER KWRET — FEE BED 47 — EERBRERE I Ge H25.45 | H25.45 <80 <65 <15
11 %fﬁb,j rER LT — FERBER BEY 45 — BERERRRE V- Ge H2545 | H2545 <68 <6.2 <13
12 %f‘gﬁp,j BEER aEm — FEE BEY 47 — EERRERE I Ge H25.45 | H25.45 <84 <838 <17
13 %fﬁbd rER LT — ERBER BEY 45 — BERERRRE V- Ge H2545 | H2545 <98 <81 <18
14 %f‘gﬁp,j BEER AT — FEE BED 47 — EERRERE I Ge H25.45 | H25.45 <87 <71 <16
15 %fﬁbd BER Bl - B BEY 4+A — BERRRBEEVS— Ge H2545 | H2545 <11 <88 <20
16 %f‘gﬁp,j BEER Bl — FEE BED 47 — EERRERE S Ge H25.45 | H25.45 <87 <8.1 <17
17 %fﬁbd BER BT - B BEY 4+A — BERRRBEEVS— Ge H2545 | H2545 <66 <710 <14
18 %f‘ffb,j BEER Blm — FEE BED 47 — EERBRERE I Ge H25.45 | H25.45 <838 <62 <15
19 %fﬁbd rER ERilih — FERBER BEY 45 — BERERRE V- Ge H2545 | H2545 <9.9 <84 <18
20 %f‘ffb,j BEER Blm — FETE BED 47 — EERBRERE I Ge H25.45 | H25.45 <85 <71 <16
21 %fﬁbd BER =HHT — ERBER BEY *H — BERERRRE V- Ge H2545 | H2545 <79 <80 <16
22 %f‘ffb,j BEER =&HT — FETE BED 47 — EERBRERE I Ge H25.45 | H25.45 <81 <538 <14
23 %:%;? vy | BER T — FERBER BEY *H — BERERRRE V- Ge H2545 | H2545 <88 <6.5 <15
24 %f‘ffb,j BEER B — FEE BEY 47 — EERRERE I Ge H25.45 | H25.45 <82 <64 <15
25 %:%ﬁ vy | BER HAtH — FERER BEN B! — BERRRBEEVS— Ge H2545 | H2545 <65 <62 <13
26 %f‘ffp,j BEER WhEm — B BED Ll — EERBRERE I Ge H25.4.5 H25.4.5 <72 <65 <14
27 %f”ﬁb,j BER WhEM — FeiE R BEY 47 — BERRRRE V- Ge H2545 | H2545 <95 <81 <18
28 %f‘ffp,j BEER LWhEm — B BED Ll — EERRERE I Ge H25.4.5 H25.4.5 <6.8 <70 <14
29 %f”ﬁb,j rER WhEH — B BEY 47 — BERRRRE V- Ge H2545 | H2545 <717 <87 <16




Bt i B #5R (Baske)

Rzt | BARR | PO | e i samw) | mme |y REA (. 290, 2ERE il BEE | G | wmn | 019 | o197 | osed
R, | mem | — FmER | EEN 4 - ERRRRLA L 5— Ge | Hs4s | Hesas | <ur | <72 | <8
%f‘ffp,j BER AJIET — SERE R BEY 45 — BERRRREEVS— Ge H2545 | H2545 <17 <73 <15
R, | mem | mwm — AL | EED 4 - e Ge | H2a5 | Hesas | <96 | <78 | <17
%f‘ffp,j BER AT — SERE R BEY 45 — BERREREEVS— Ge H2545 | H2545 <90 <74 <16
R, | wem | =R — AR | wEN 4 - e Ge | H2a5 | H2sas | <79 | <73 | <15
%f‘ffp,j BER AL — SERE R BEY 45 — BERRRBEEVS— Ge H2545 | H2545 <69 <63 <13
%fﬁ),,j EBR AJIET — B BEY B! — BERRREEEVS— Ge H2546 | H2546 <80 <82 <16
%f‘ffp,j BER = RYET — SERER BEY 45 — BERREREEVS— Ge H2546 | H2546 <86 <75 <16
R, | wem | =R — AR | wEN 4 - e Ge | H2as | H2sas | <86 | <s2 | <17
%f‘gﬁp,j BER =&H — SERE R BEY 45 — BERREREEVS— Ge H2546 | H2546 <179 <6.0 <14
R, | wem | =sm — AR | wEN 4 - e Ge | H246 | H2sas | <65 | <79 | <14
%f‘gﬁp,j BER REH — SERER BEY 45 — BERREREEVS— Ge H2546 | H2546 <86 <82 <17
R, | wem | x=zw — AR | wEN 4 - e Ge | H2as | H2sas | <92 | <73 | <17
%f‘gﬁp,j BER | KBRTH — SERE R BEY 45 — BERREREEVS— Ge H2546 | H2546 <6.0 <68 <13
R, | wem | 2T — AR | wEN 4 - e Ge | H24s | H2sas | <75 | <a1 | <16
%f‘gﬁp,j BER = — SERE R BEY 45 — BERREREEVS— Ge H2546 | H2546 <78 <63 <14
R, | Eem | msHw — AR | wEN 4 - e Ge | H24s | H2sas | <69 | <11 | <1
%f‘gﬁp,j BER ¥ Vil — SERE R BEY 45 — BERREREEVS— Ge H2546 | H2546 <13 <88 <16
R, | Eem | mswmw — AR | wEN 4 - e Ge | H24s | Hesas | <79 | <73 | <15
%f‘gﬁp,j BER AL — SERE R BEY 45 — BEREREREEVS— Ge H2546 | H2546 <15 <17 <15
R, | Eem | mum — AR | wEN 4 - e Ge | H24s | Hesas | <76 | <76 | <15
%f‘ffb,j BER AL — SERE R BEY 45 — BERREREEVS— Ge H2546 | H2546 <96 <91 <19
%fﬁb,j BER Bl - B BEN 4+A — BERRREEEVS— Ge H2546 | H2546 <11 <82 <19
%f‘ffb,j BER AL — SERER BEY 45 — BERREREEVS— Ge H2546 | H2546 <86 <96 <18
R, | Eem | mum — AR | wEN 4 - e Ge | H24s | Hesas | <72 | <er | <1
%f‘ffp,j BER FHA - B R BEY 4+A - BERREREEVS— Ge H2546 | H2546 <66 <72 <14
R, | Eem | mmear — AR | wEN 4 - e Ge | H24s | H2sas | <78 | <70 | <15
RNy | mem | msEW — AR | wEn 4 - EBRBELE 5 Ge | H2a6 | H2sas | <76 | <67 | <14
R, | Eem | Ezww — AR | wEN 4 - e Ge | H2as | Hesas | <94 | <78 | <17
RSy | mem | msrm — AR | wEn 4 - BERERGE L S— Ge | H2a6 | H2sas | <79 | <85 | <16
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